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1. Prowvide detailed mechanisms for the following transformati ons:
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Mame:

2. Predict the major product(s) of the following reactions:
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Mame:

4. Prowvide the reagents necessary to accomplish the following transformations:
(Mare than one step will be reguired )

a. [ pts) 0 0 0 0

1. MaH (or ary other ME
O E appropriate base), Mel n O E

2. Malme, MeOH
3. H.O"

Direct alkylation will not work here becalse the desired enolale will not form. BuE the reversibilify of the
Dieckmann condensation gives Us away . First allylate hefween the carbonyls and then do &
refro-Dieckmann-Dieckmann sequnce.
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Mame:

4. a (10 pts) Prowde a Fischer projection and a classification (s.g. D-aldotetrose) for the following

catbohy drate:
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Mame:

5. Constder the following reaction sequence (known as the Arndt-Eistert Homologation). In the first part,
a cartboxvlic acidis transformed into an acid chloride, and the acid chloride 15 then treated with
diazomethane to give a diazo ketone. In the second part (known as the Weoltt Eearrangement), the
diazo ketone 15 treated with a silver salt in the presence of water to give a new carboxylic acid that 15

one catbon longer than the original,
i i i
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a. (o pts) Prowde amechanism for the conversion of the acid chloride to the diazoketone.
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b (10 pts) Chvern what vou fowow about the Curtins Rearrangement, propose areasonable mechanism to
account for the conversion of the diazoketone to the product catboxylic actd. ¥You may 1gnore the silver
oxide, but vou will need the water at some point in the mechanism.

)

ey +N¢fff’m )J\P +me The ony difference is that there is a carbon
R R e N substituted for a nitrogen in this case.
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